
Transitionssystem TAirlineSystem

Das Σ∆-Transitionssystem TAirlineSystem = (State∆, σinit ,Label∆,Ω∆,R∆)

hat folgende Transitionsrelation R∆:

R∆ =

{σ−
Airline(vs):va−−−−−−−−→ σ | σ−, σ ∈ State∆,

σ = σ− [ va = newAirline , va.name 7→ vs ],

vs ∈ A∗, va ∈ OIdAirline , va /∈ Airlineσ−}

∪ {σ−
va.createPilot(vs,vr):vpi−−−−−−−−−−−−−−→ σ | σ−, σ ∈ State∆,

σ = σ− [ vpi = newPilot , vpi .name 7→ vs ,

vpi .salary 7→ vr , vpi .flights 7→ ∅,
va.employees 7→ va.employeesσ− ∪ {vpi} ],

va ∈ Airlineσ− , vs ∈ A∗, vr ∈ R, vpi ∈ OIdPilot , vpi /∈ Pilotσ−}

∪ {σ−
va.createSteward(vs,vr):vst−−−−−−−−−−−−−−−−→ σ | σ−, σ ∈ State∆,

σ = σ− [ vst = newSteward , vst .name 7→ vs ,

vst .salary 7→ vr , vst .flights 7→ ∅,
va.employees 7→ va.employeesσ− ∪ {vst} ],

va ∈ Airlineσ− , vs ∈ A∗, vr ∈ R, vst ∈ OIdSteward , vst /∈ Stewardσ−}

∪ {σ−
va.createFlight(vi ,vpi ,vst):vf−−−−−−−−−−−−−−−−−→ σ | σ−, σ ∈ State∆,

σ = σ− [ vf = newFlight , vf .number 7→ vi , vf .airline 7→ va,

va.flights 7→ va.flightsσ− ∪ {vf },
vpi .flights 7→ vpi .flightsσ− ∪ {vf },
vst .flights 7→ vst .flightsσ− ∪ {vf } ],

va ∈ Airlineσ− , vi ∈ Z, vpi ∈ Pilotσ− , vst ∈ Stewardσ− ,

vf ∈ OIdFlight , vf /∈ Flightσ−}

∪ {σ−
va.createFlight(vi ,vpi ,vst):vf−−−−−−−−−−−−−−−−−→ ⊥ | σ− ∈ State∆,

va ∈ Airlineσ− , vi ∈ Z,

vpi ∈ Pilotσ− ∪ {null}, vst ∈ Stewardσ− ∪ {null},
vpi = null oder vst = null}



∪ {σ−
va.deploy(vp,vf )−−−−−−−−−→ σ | σ−, σ ∈ State∆,

σ = σ− [ vp.flights 7→ vp.flightsσ− ∪ {vf } ],

va ∈ Airlineσ− , vp ∈ Personσ− , vf ∈ Flightσ− ∪ {null}}

∪ {σ−
va.deploy(null ,vf )−−−−−−−−−−→ ⊥ | σ− ∈ State∆,

va ∈ Airlineσ− , vf ∈ Flightσ− ∪ {null}}

∪ {σ−
va.cooperate(vb)−−−−−−−−−→ σ | σ−, σ ∈ State∆,

σ = σ− [ va.partners 7→ va.partnersσ− ∪ {vb},
vb.partners 7→ vb.partnersσ− ∪ {va} ],

va, vb ∈ Airlineσ−}

∪ {σ−
va.cooperate(null)−−−−−−−−−−→ ⊥ | σ− ∈ State∆,

va ∈ Airlineσ−}

. . .

∪ {σ−
vf .business():vr−−−−−−−−−→ σ− | σ− ∈ State∆,

vf ∈ Flightσ− , vr ∈ R, vr = vf .basicPriceσ− ∗ 4}

. . .

∪ {σ−
vst .increaseSteward (vr)−−−−−−−−−−−−−→ σ | σ−, σ ∈ State∆,

σ = σ− [ vst .salary 7→ vst .salaryσ− + (vr/2 ) ],

vst ∈ Stewardσ− , vr ∈ R}


